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1. (a) State whether the following statements
are ‘True’ or ‘False’ : 1x4=4

(b)

()

(it)

(iii)

(iv)

Out of face value of the shares,
at least 10% is payable with
application.

A debenture holder is an owner of
the company.

Under ‘Net Payment Method’,
purchase consideration is calculated
by adding the various payments
made by the purchasing company.

Insolvency is a necessary condition
for liquidation of a company.

State the correct answer : 1x4=4

()

Preference shareholders are
(1) creditors of a company
(2) owners of the company

(3) customers of the company



| v )
(11 )

fii) Debentures are shown in the | | |
Balance Sheet at (c) Explain briefly the modes of winding-up
of a company.
(1) face value

(2) discount (d) State the order in which disbursements
(3) premium are ordinarily made by a liquidator to
satisfy the various claims in case of
(u1) Accumulated losses to the vendor h voluntary liquidation of a company.
company should be transferred to
the

(1) Profit and Loss Account

3. (a) A limited company issued 6%, 10000
debentures of € 100 each at a discount

. of 5 per cent, repayable after 5 yeas at

(3) Equity Shareholders Account a premium of 10 per cent.

(2) Profit and Loss Appropriation
Account

Show Journal Entries in the books of

the company recording the above
(1) debenture holder - transactions. 2

(2) shareholder

(iv) A contributory is a

19} ereditor (b) Explain how the loss on issue of
debenture be dealt with and show
2. Answer the following : 4x4=16 how this account will appear in the
(a) Explain how you would .dealt with— books of the company over the five :
1 : tive years.
() shares forfeited but not reissued; consecutve y
(@) shares forfeited and reissued. or |
f shares?
istingui ‘ it What do you mean by buyback o
(b) Dls?r}guxsh ‘ between  ‘preacquisition State the legal provisions relating fo aryback
Profit’ and ‘pestacquisition profit’ of a of shares. . 34+4=7

company,



4. (a) () How should premi

(b)

5. (a)

(b)

( 12 )

um on shares be
dealt with?

A limited company has an accumu

lated reserve of ¥ 5,00,000. It was
decided to declare bonus of
& 3,00,000 out of its reserve. The
bonus is to be utilized as

(i)

(1) ¥ 1,00,000 to make the existing
25000 shares of € 10 each fully
paid of which ¥ 6 per share
called and paid

(2) ¥ 2,00,000 by issuing 5000
bonus shares at ¥ 25 each at
a premium of ¥ 15 per share to
the existing shareholders

Pass the Journal Entries in |the
books of the company recording the
above transactions.

Or

Enumerate the SEBIs guidelines

regarding issue of shares and forfeiture
of shares.

Distinguish between Amalgamation and
Absorption.

What do (you mean by internal

reconstruction, of a company? Explain
its scope.

4+5

(13 )

3 Or

Kamrup Company Ltd. had the following

Balance Sheet as on 3
Liabilities [4
Authorized Capital :
5000 Shares of

¥ 100 each 5,00,000
Issued and Sub-
scribed Capital :
2000 Shares of
§ 100 each 2,00,000
200, 6% Debenture
of ¥ 1,000 each 2,00,000
Sundry Creditors 75,000
Bills Payable 25,000
Bank Overdraft 60,000
4 5,60,000

st March, 2012 :

Assets 4
Goodwill 60,000
Land & Building 90,000

Plant & Machinery 2,00,000
Stock 47,000
Sundry Debtors 46,000
Cash at Bank 12,500
Preliminary Expenses 6,000

Profit & Loss A/c
(Dr. Balance) 98,500
5,60,000

The following schemes of reconstruction were

adopted :

authorised,

(i) Without altering the number of shares in
issued and

subscribed

capital, the face value and paid-up value
of each share was to be reduced to T 50

(i) The existing debentures be converted
into 100, 9%% debentures of 1,000

each
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(.15 )
(i) The assets be revalued as under ; Liabilities v u
0, Y SSets
Land and Building—¥ 82,000 7% Debentures having 2
Plant and Machinery— 1,75,000 2 foatingftharges
Stock—¥ 44,500 I‘m all assets 1,00,000
Sundry Debtors subject to a cnter.eSt Outstanding 5,009
bad debts provision—% 5,000 reditors 1,45,000
(iv) Goodwill, preliminary expenses and the ~ 7,05,000 705005
debit balance of Profit and Loss Account —_—

be completely written off The company went into liquidation o

that date. The preference dividend in
arrear for two years. Creditors include a

Give Journal Entries to implement the above
schemes of reconstruction and prepare the

Balasice Sheet. = loan of # 50,000 on the mortgage of land
and building, The assets were realized as
follows : .
6. (a) Who are the Preferential Creditors’? 4 »
(b) The Balance Sheet of Assam Ltd. as on ﬁi};ﬁi Building 1,20,000
31st December, 2012 : l;ate:t ,gg:ggg
Liabilit . toc
cabilities (4 Assets 4 Sundry Debtors ggggg
Share Capital : . Land & Building . 1,00,000 The o
Authorised & Issued : Machinery 2,50,000 - expenses of .hqmdatlon amounted
2000, 6% Pre- Patert 40,000 to ¥ 10,909. The liquidator is entitled to
ference Shares Stoek 50,000 a co_rmmsston of 3 per cent on all assets
of ® 100 each 2,00,000 Sundry Debtors  1,15,000 realised except cash and a'cor'nmission
1000 Equity Shares Cash at Bank 30.000 of 2 per cent (?n amount dls_mbuteq to
of € 100 each, Profit & Loss A/c  1,20,000 unsecured creditors. Preferential creditors
¥ 75 paid 75,000 amounted to ¥ 1,500
3000 Equity Shares Prepare Liquidators’ Final Statement of
¥ 100 each, . 10

Account.
¥ 60 paid 1,80,000



7. (a)

(b)

(c)

(16 )

Distinguish between Holding Company
and Subsidiary Company.

Mention two advantages and two
disadvantages of Holding Company.

A Ltd. acquired 1000 shares of ¥ 10 each
in B Ltd. at a cost of ¥ 16,000 and 500
shares of & 10 each in C Ltd. at a cost
of T 4,000 on 1st January, 2012 out of a
total issued share capital of 1500 and
800 shares respectively. Neither of the
subsidiary company had issued any
Preference Shares.

At the date of acquisition, the accounts
of B Ltd. showed a General Reserve of
¥ 12,000 and credit balance of 4,500 in
the Profit and Loss Account and the
accounts of C Ltd. showed a debit y
balance of € 6,400 in the Profit and Loss
Account. -

Show how these facts would.be set out
in the Consolidated Balance Sheet of
A Ltd. and its subsidiary companies.

* ok k




